(PRE UPPER PRIMARY SCHOLARSHIP EXAMINATION (Std. 5%, FEBRUARY 2019\
Seat No.
0702 ™
Paper No. 11 Medium : Telugu Time : 3:30pm to 5:00pm
G ages : 32 Third Language and Intelligence Test Total Marks : 150)

Read the following instructions carefully before you answer the questions.
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This question paper contains two sections. In Section I there are 1 to 25 questions of Third Language and
in Section II there are 26 to 75 questions of Intelligence Test. All 75 questions are compulsory.

All questions carry 2 marks each.

Time limit to solve the question paper is 90 minutes.

Separate answer sheet is given to record the answers. Each question has been given four
alternatives. Read them carefully. Select the correct answer and shade the correct answer in the answer
sheet.

Example :- [f'the correct alternative for Q. No. 6 is 2, then record you answer as follows :

Question No. 6 O®B®

Answer recorded in any other form will not be considered. Such answer will be credited with ‘Zero’ mark.
Example : () @ @ &

Use blue or black ball pen to darken the circle. Pencil is not allowed. Circles darkened by pencil will not
be credited.

One you have darkened the circle as correct alternative you cannot change it.

If more than one circles are darkened or overwriting is done, the answer will not be accepted.
The rough work is to be done in the space given under each page or on the last page of the question paper.
If you do not know the answer to any question, do not spend much time on it and pass on to the next one.
Ifthe time permits you can come back to the question which you have left in the first instance and try them
again.

If you find any question incomplete or with error, then do not ask anything to the Supervisor or Centre
Incharge.

For any error/mistake/objection issues, school or parents should not send written application to Block
Education Officer or Education Officer. These error/mistake/objection issues should be
register online through respective school login only.

The error/mistake/objection issues should be register online within 10-days from the publication of Interim
answer key on MSCE website.

Questions can be cancelled due to printing mistake of any other reason, on the basis of the
suggestions given by the Committee of Experts.

Along with the question paper of the respective medium, the English version of question paper is also
provided. In case of doubt please refer to the English version of the same question.
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~ection I

Q. 1 to Q. 3 Read the passage carefully and answer the following questions.

Poseidon was the Greek god of the sea. He carried trident which was the symbol of his
power. He split mountains with his trident and rolled the broken parts into the sea. He had a
glittering palace in the depths of the Aegeon Sea.

1.  Who was the Greek god of the sea ?
(1) Poseidon (2) Greek
(3) Aegeon (4) Power
2.  Whatdid Poseidon éarry ?
(1) palace (2) trident
(3) depth (4) sea
3.  The trident was the symbol of

(1) idea (2) depth
(3) money (4) power
4.  Choose the correct punctuation mark which is not present in the given box.
> | ?
(1) ? 2) !
' 3) : 4) .
) ®
Space for Rough Work
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Complete the word register.

drum, cymbals, flute,

(1) sieve (2) stain
(3) tambourine (4) grater
Look at the greeting card. Read the message. Choose the proper date.
“Dear Teacher (1) On 5th September
We love you (2) On15th August
So much !’ (3) On2nd October
...... Your students. | (4) On 14th November

Find out the odd term.

(1) Cucumber (2) Fenugreek
(3) Spinach (4) Coriander
Select the correct option.

The arrow shows direction.

(1) right (2) upward
(3) left (4) downwards

Select the proper action word.

share \ spill

curd
eat ?
(1) wash (2) cut
(3) peel (4) churn
Space for Rough Work

0702 -A 3 0f32 P.T.O.




10

11.

12.

13.

. She eats breakfast her parents.
(1) off (2) by
(3) with (4) at
Choose the correct alternative.
Tools used by Mechanic.
! I I
drill ‘ ? screw nuts
(1) roast (2) space
(3) cylinder (4) spanner

Select the correct answer.

How many letters should be capital in the given sentence.

ilive in aurangabad.
(1) 3 2) 1
3) 0 4) 2

Solve the riddle.

I use a stethoscope and examine patients.

Whoam1?
(1) amechanic (2) apotter
(3) acobbler (4) adoctor

Space for Rough Work
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14.

15.

16.

17.

18.

What a great surprise.
(1) Apostrophe

(3) Comma

Complete the motto.
are our friends.
(1) Library

(3) Teacher

Arrange the numbers properly and make a meaningful word.

Choose the correct punctuation mark for the given sentence.

(2) Exclamation mark

(4) Full Stop

(2) Books
(4) School

o | r e | ] u

1 12 (3145

(1) 1452673
(3) 4152637

(2) 4172635
(4) 1542637

Choose correct alternative to seek a permission.

(1) Iwill openthe window

(3) Please open the window

Choose the correct option.

What time is it ?

(2) Openthe window
(4) May I open the window ?

(1) Quarter past three
(2) Quarter past five
(3) Fivepastthree

(4) Three past five

Space for Rough Work
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19.

20.

21.

Select the correct alternative

Let'smakea______ for shopping.

(1) list (2) least
(3) lest (4) leest
Fill in the blank by using the correct article.
Eiffel Tower is in Paris.
(1) A (2) The
(3) An (4) No article

Look at the given picture. Choose the correct conversation.

The bubbles look so lovely !
: Let's buy two.

Here are your potatoes. Would you like to buy tomatoes ?

: Sure.

Please give us two full glasses.

: Mamma, [ want some ice in my juice.

Do you like roasted corn cobs ?

: Oh, I love them with salt.

Space for Rough Work
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22. Select the correct option.

My number is 12. So I am in the row.
(1) twelth (2) twelfth
(3) twelve (4) tweth
23. Complete the puzzle.
n
d (1) b: l,m )
i 2) k,g, i
g > >
rajm e (3) i,o.g
R
@ (4) v,p.i
e
n
24. Choose the word that comes alphabetically first
(1) Tuesday (2) Friday
(3) Sunday (4) Monday
25. Choose the incorrect pair.
(1) atiny star (2) arich man
(3) arainy day (4) asharp day
Space for Rough Work
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3y ABCDE FGHIJ KLMNO PQRST UVWXYZ

Section 11

26. ‘Edo, SHYo, \{FPwo, HEE, PIE & B8 X0 wEd Ho wETed HIDriod
©EI0ETI DIV W@ Behod. SRrsH ©YR0SID DU Toog), REgd o wFYo

Q0?2

(1) &8 2) & (3) & 4) ¢
WF) 27 0086 31 B30 Jrid: SSrdtl8 Wokd J&d0k HhyoBod.
27. (1) =880 (2) T

(3) QK [ibew (4) 08B e
28. (1) o&yS : forreyd (2) Doy TS

(3) HFgDBT : HSo Bevs (4) 2308 : oroffesd

29.

(4)

30. ‘—?_1 _ﬂ ®

(1) (2) 3) 4)
31. (1) 153 (2) 136 (3) 102 (4) 115

Space for Rough Work
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-

~ection 11

26. Make a meaningful word taking the second letter of the given words. 'PLAY, IVY,
HENCE, SCORE, PEAR, FROG' From that meaningful word which letter will be at
the 3rd place from right ?

(1) E 2) Vv (3) L 4) R
Q27 to Q31 Direction: Find the odd term
27. (1) Stomach (2) Food Pipe

(3) Small intestine (4) Lungs
28. (1) Rajasthan: Gangapur (2) Maharastra: Patane

(3) Madhya Pradesh: Bhimbetka (4) Gujarat: Langhnaj

29.

(1) (2) 3) (4)

SINE ) L‘j .

(1 (2) 3) 4)
31. (1) 153 2) 136 (3) 102 4) 115
Space for Rough Work
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3yn ABCDE FGHIJ KLMNO PQRST UVWXYZ
32. 80b SowrgirdESt HE) DI w0 (?) @;éo@" o Qogg DT
13,17, 25, 32,37, ?
(1) 47 (2) 42 (3) 45 (4) 46

33, ", D000, 5w, 5@, 900850, DB’ & ST Hrrod® SodknTEsiowm o
DT EF) DOWRTESL B HErw ) S8 T 80)H KoY?

(1) 2 8895 (2) 18893 (3) 29898 (4) 3 8593

34, Q%H% PO, YOV Ko, KoBLH OITEN, LOTINH B8P B 8N TS HY P&
ROBY W) VOLrE?

(1) HO (2) Q% (3) SoBen (4) Dossm

sk 355006 39555 BrES: BF), EogFod’ Lrd drre aNtedsd. I8 P HEiEse S0,
T af DX DB)HK. BONS & LTI BodD &S0 JTgre Lodk JHowonok.

35. Hods, HOE, HHE,

(1) Dygeo (2) ddren 3) &8 (4) ogw
36. BoOT, FPIS, D,
(1) orsdncd (2) 58 ORES (4) B85
- HHI |AV||EE
(1 (2) 3) 4)
Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

32.

33.

34.

Find the number which will replace the question mark (?) in the given number series.
13,17, 25,32,37,?

(1) 47 (2) 42 (3) 45 (4) 46

'Give me the strength lightly to bear my joys and sorrows.' In the statement how many
times vowels have occurred ?

(1) 13 times (2) 8 times (3) 7 times (4) 16 times

If calf is called cub, cub is called lamb, lamb is called kitten, kitten is called kid, kid is
called puppy then what is the young ones of sheep called ?

(1) kid (2) cule (3) kitten (4) pup

Q35 to Q39 Direction: In each of the following question three words are given with some

common characteristics so their group is formed. Select a word from the options given,
which has the same common feature of the given group.

35. Itching, Cough & Cold, Corn,

(1) cold fever (2) cholera (3) measles (4) dysentery
36. Choir, heap, pile,

(1) humming (2) crowd (3) march (4) mile
- HH |AV| [EE

9 9
(D (2) 3) (4)
Space for Rough Work
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38.

39

40.

(1) (2) (3) (4)

2t 42 5l
4° 8 4
4 1
5— 5=
(1) 5+ @) 53
2 1
6— s
(3) 65 ) 73

2w SIS EQS 500k Hod 28 H O DH6 Hod 328 Fhod ok, o8 SHIS
HES fo WIY INTO DAL Jvad Pob. NI DOH HIT MO g 10 Hob
©Xrmoned Ko, N SKHIS LI B Fn DN0 W0k I9)H0?

(1) 20 6 (2) 18 58
(3) 40 %6 4) 19 56
Space for Rough Work
0702 -A 12 of 32 P.T.O.




Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

38.

39

40.

A
NIRVONION
o) | A

(1) (2) (3)
21,42,31
4’ 8 4
4 1
(1) 51—6 2) 55
2 . 1
(3) 61 4 73

In a queue Kavita's position is 28th from the start and 32rd from the last. In the same

queue Manisha is standing behind Suvarna who is standing in the middle position of
the row. In between Suvarna and Manisha there are 10 girls then what will be the

order of Manisha from the last ?

(1) 20th (2) 18th
(3) 40th (4) 19th
Space for Rough Work
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KLMNO PQRST UVWXYZ

3% ABCDE

©9) 41 50050 42 T8 Hrid: 8ol adewdd HTES FnE), Hodowo DO I Ednked

hoowok.

41, LT E)®
BT &S

(1) (2) (3) 4)

42. ’\/] P C ST §)8
BT wE)e
ey 2) 3) 4
Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

Q41. and Q42 Direction: If the question figure is held vertical above water surface, identify

its water reflection and select the correct alternative.
41. Question figure

X

Answers figures

A A

(1) 2) (3) )
42. Question figure

MPC
ABC| 9

(1) 2) 3) (4)

Answers figures

Space for Rough Work
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43.

44.

45.

46.

47.

48.

49.

B B050 BYBH BP DTH BHHEE IPEoHEEYE Srdyh B8 ISty
GORX. Vok EFNbdy SENY 0708 w8& wontmorr 0NN, FRErI0 JGWE Hiw
&R wowolr 8BNS wE& ERBoR BF JO?

(1) &y (2) DS (3) &80 (4) %&e0
B8, D08 SO0 JIr 20 Hohw Fngo 4H05ET0 8o 28 HodS EIwen ok,
BN 4305800 068 T SCHY INE0 D) SoIETwoEI?

(1) 32 (2) 40 (3) 36 (4) 52
205§ §BE 200050 PP erS ed@®, TEo THwo H*E wke, 3BT HE WS DOk

Sk eded Hodkn S8 YT $3) DO ehod) ek, wond Sud el
BRI DSE?

(1) B8 6050 THo 2) 500 385
(3) 00508 Hdcsw 3BT (4) HHE Ho005» 3BT
8od aigwdS DI oSrIES ©F) e TI0S I DI Jriro HEn?

QEA T PR AP PER K
O RATRR o FHARR
» KA @ EHEHH R

123 1976 & TROWS DTN ), ‘WBF LT E)H0’ DHpdd BHYTodS?
(1) 128 2001 (2) 128 2036 (3) 1e~x 2026 (4) 128 2025
8oh wE)BS Ingo A V&N FoY?

(1) 15 ) 21

(3) 90 4) 120

80 HEIPOES SBP HE0 HYOFOE.
3,11, 27, 57, 123, 251
(1) 123 2) 57 (3) 27 @) 11

Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

43. During the sunrise, Vishwas started walking that time the sun was to his left. He walked
2 km and turned 90° to his right. Again he walked for a while and turned 90° to his
right, then which direction is to his left now ?

(1) East (2) West (3) North (4) South

44. Total ages of Kavita, Savita and Salma four years before was 28 years, then what will be
the total of their ages four years hence ?

(1) 32 (2) 40 (3) 36 (4) 52

45. Suyash plays cricket and football, Rajendra plays only hockey, Shailesh plays football
and Kabaddi and Deepak plays all sports except football, then who play Kabbadi ?

(1) Deepak and Rajendra (2) Only Shailesh
(3) Suyash and Shailesh (4) Deepak and Shailesh

46. Which group of symbols will occur at the place of question mark in the given series of
symbols ?

QAT OH PHRIBEAP PER A
O R AKRQ o FRARKR
6 KAHHR @ KEHER

47. 'Golden Jubilee' celebrations of the school will be on which day whose '"Foundation
Day' is 1st June, 1976 ?
(1) 1 June 2001 (2) 1 June 2036 (3) 1 June 2026 (4) 1 June 2025

48. How many squares are there is the given figure ?

(1) 15 (2) 21 (3) 90 (4) 120
49. Find the odd term of the given number series.

3,11, 27, 57,123, 251

(1) 123 (2) 57 (3) 27 4) 11

Space for Rough Work
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50. 20155058 50 ‘Trdogs HIE)H0' LTI BoBH. @R 2016 S0k E0S ‘Darg

51.

52.

53.

I E)H0 ¥ Terd woB?
(1) 8360 (2) engarssm (3) sHTTIP (4) BEEE0
8ok 8E)BS’ |@ghwred RO HEENEPW WREROT ) KoY?

(1) 115000 7 (2) 950000 5 (3) 1150050 5 (4) 11 50605 3
8ob Dogrglrod (B Vi En PHod O Dowg HiK?

121, 169, 225, 289 ?
(1) 334 2) 400 (3) 246 (4) 361

800 @8)@ HFod Jwlo JdHFPw Ve wgRHo, Bhaod’ &b Bl Vokn
ATLEHOR SO0 BSGHod S8 HEsn Bakw ATgHOH Wronbod. e
508000 ANY UK aTWoR STHETrY KHobd HEoHs.

Bhwo Do pockn & Do Ban IEgETous?
1) 3 2) 7 3) 6 4) 5

Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

50.

51.

52.

S3.

In 2015, Independence Day was on Sunday. On which day 'Literacy Day' will fall in the
year 2016?

(1) Saturday (2) Wednesday (3) Sunday (4) Friday

Each of the alternatives given below the figure indicate the number of triangles and
quadrilaterals respectively. Observe the figure and choose the correct option.

(1) 11and7 (2) 9and 5 (3) 11and5 (4) 11and3
Which number will replace the question mark in the given number series.
121, 169, 225, 289 ?

(1) 334 (2) 400 (3) 246 (4) 361

In the given Venn diagram the students who clean the ground are shown in the
circle, those who clean the garden are shown in the triangle and those who
clean the classrooms are shown in the square. Observe the figure and answer
the question by choosing the correct alternative.

How many students clean only ground and the garden ?
(1) 3 (2) 7 (3) 6 45

Space for Rough Work
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54. 804 @bl @B InGo V) NTTY S o HoY?

(1) 7 (2) 19 3) 16 (4) 20

%) 55 0050 56 FEH 2l @HS @I HS SnE) WD wEod Jdor Edwkd HTydire
Hodk ook, '

55. ©HT)E®

E | D\

RIP

6 V”v/\ \
%3 a|aN/aq|3

() (2) (3) “4)

Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

54. How many cubicle boxes are there in the given figure ?

(1) 7 (2) 19 (3) 16

4) 20

Q55 and Q56 Direction: Find out the mirror image of each of the following question figure

from the alternatives given.
55. Question figure

Answers figures

EIERE

CEN3

VA 7 VKA
Vel \E|D/ \Aad) \ad
(1) (2) 3) (4)
Space for Rough Work
0702 -A 21 of 32 P.T.O.




3% ABCDE FGHIJ KLMNO PQRST UVWXYZ

56. T8

veg
Q3% ¥39 ¥EQ ¥30

(1) 2) 3) 4)

57. 80& wdads IS 6B & HTLE0T' ©oFIN0S Howohoiod HEoWs.

(1) o8 s, Do Harges, Fgose
(2) r38BH0, ST, So&E

O (3) @&, 838, arglerd
(4) Bvorre, Tas, far

58. o6 w8)as’ af BBEDRS Fhiw Hod. © FHink HROWED B8 O E» FHod

o @88 SET hoKod.

RER A

w0 ei®
A /‘\ }
¢ 2) 3) (4)
Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

56. Question figure

9E%
Q3% 3309 ¥EQ ¥3

(1) ) 3) (4)

57.  Select the alternative which will match exactly to the Venn diagram given in the question.

(1) Components of food, (2) India, Maharashtra, Karnataka
starchy food, Wheat

(3) Sport, Cricket, Batball (4) Telangana, Rajasthan, Goa

58. In the given figures there is a specific order. Observe the order and find out the
figure to replace the question mark.

RER LT

Answers figures

/TN
A
(1) (2) (3) 4)
Space for Rough Work

0702 -A 23 of 32 P.T.O.




23 :ABCDE FGHIJ KLMNO PQRST UVWXYZ

) 595008k 63 FEXH JrriS: Eob WH ol InEE Do Bokd Ve D& Ho SowoFd)
(hg0k0od, @8 DowWoESD Hrrds PO TLN HFTOK HOK. WD WE) VI w0

59.

60.

61.

62.

TH0d 2 DOYERER JENT hGowos.

Torestn] PBRT?

(1) & (2) &dDBJ050 (3) srosmargo (4) 89
, ST
g§§§§° g{} ©®® |p0 D@ﬁ A

|ciong, 1 0

GG S

@00
@000 Omv 8845 ®
00
o [5% [+ 18| [ + |33 AR
VIR, '

o|S|L olall
3) 8 :\' @ 2|1

8§:504::6:?
(1) 222 (2) 216 (3) 210 (4) 209

Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

Q59 to Q63 Direction: In the following question the first and second figure have a specific
relationship between them. The same relationship exists between the third and the fourth
figure. Find the correct figure from the alternatives to replace the question mark.

59. '% Monkey '% ?

(1) Fort (2) Light house (3) Airways (4) Mine
60. Question figure

olofo! ~ -
@@@){{%{%‘%{}@© 0o DD@X.o 9

@ .
W« OOOOOO OOOO (e 888 88 °

Answers figures

' Q0
o | ¥ |+ 90| +|BH (B8]
V) Q O
% |70 | [891% | %] %[00 [P
(D | (2) (3) 4)

o. MUWLIESIT]: 2
SN >0l
SININ w0 L

62. 8:504::6:7?
(1) 222 (2) 216 (3) 210 (4) 209

Space for Rough Work |
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63. 241:4124 ::372:7?
(1) 6218 2) 3214 (3) 6148 (4) 6281
64. 7,8,3,2,5,6,4,2,8,7,2,3,6,8,9,4,6
R D0ogredrOE S Hodomg ST KHE) T DOVowE WO HOVoPE Lok BRVoE BT
PN PE PR ? :
(1) Do 2) Sordo (3) Fend (4) a8

WE) 65 ok 66 ST JrilS: Sob PWTE® T oW 0 wHOWI) &y o @B JHTYEre
00d Hfowok.
65 @& aTw e)S

A

66. HT\E)@

) 3) (4)

)

2355°20 @ég@

(D 2) 3)

Space for Rough Work
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63. 241:4124::372:
(1) 6218 (2) 3214 (3) 6148 (4) 6281

64. In the given series, how many times even number is preceded by odd number and is
immediately followed by an even number

7,8,3,2,5,6,4,2,8,7,2,3,6,8,9,4, 6
(1) two (2) three (3) four (4) one

Q65 and Q66 Direction: Find out the figures which exactly matches with the question figure
from the four alternative figures given below.

65 Question Answers

I

66. Question figure

1) 2) (3) 4)

Answers figures

(1) 2) 3) (4)

Space for Rough Work
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67. ABCDE FGHIJ KLMNO PQRST UVWXY
2 2000 WFSIrOES’ HARY Dok 158 wEsiw H&?
(1) O 2) L
(3) K (4) P
68. ¥V S0 FHoL 2 Jowy Hi)T HoYore Wod WEoEos.

R &
& <} fD
7 2 |45
(1) 25 (2) 10
3) 61 ) 20

69. 2¥ JPoTAE erRd’ 2% 5,3 K 4 00050 T 9ed e—aélgé 3+2XT7=08?
(1) 17 (2) 49
(3) 35 (4) 81

70. @HDI &0 (?) S8 ) Doy ST HTasre Kok WwEoNod.

3 7 5
9. 4 | 5 4 G
(1) 225 (2) 196
(3) 256 (4) 235
Space for Rough Work
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67. ABCDE FGHIJ KLMNO PQRST UVWXY

In the given alphabetical series which is the 15th letter from the right end ?

(1) O (2) L
(3) K (4) P
68. Which number from the alternatives will replace the question mark in the box ?
5 | 3 | 16
c | a7
7 2 45
(1) 25 (2) 10
(3) 61 (4) 20
69. In acodelanguage 2 is called 5, 3 is called 4 and 7 is called 9 then 3 + 2 X 7 =how much ?
(1) 17 (2) 49
(3) 35 (4) 81
70. Choose the correct option to replace the (?) question mark.
3 7 =
8| 169 v
9. 4 | 5 4 G
(1) 225 (2) 196
(3) 256 (4) 235
Space for Rough Work
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71.

w8 POTAE AT’ DAY = 456, S = 542 00050 S¢ = T4 wond ‘@S HES0 dor
(oxl~ JoR

(D05 @08 OO ETY (EHEN a8 PO Botoodd B)Bdw.)
(1) 4747 (2) 4444
(3) 2424 (4) 2727

F) 72 20050 T3 EEH WS ©gdo Hocn D HGEH H0800D HH oK SSrFITw

72.

73.

74.

785.

orodood.

8|6 | 8| 5| g | & |bgo |20
KN OX A IQ|=
VIO DS & VT o8 Srdwdod?

MR RO = L =KO |
® 4| QO] @R [OXR=

N ] X osned S sese sarsime?

(1) m™&S (2) BE>

(3) m&ED (4) ™R3

GPERLUin & BEG TEIEES WPl O DENETT) & BoNT AP Wb WEY?

(1) &rargosndd 8oy Jde. (2) &S Soerse.

(3) WBED DI0HT . (4) & THBBII Kol ®oKdE Bd)HON.

DO EB0 THOE GoETRE 8ok TBS W deiw OTIR?
(1) 38N S* FyH0 Bokcso. (2) D80S agen BSEHT wodkko.
(3) DB 8)d HeIVFTw Bohdo. (4) 980G BodYod Sdikco.

Space for Rough Work

0702 -A ’ 30 of 32 | P.T.O.




Alphabets :ABCDE  FGHIJ KLMNO PQRST UVWXYZ

71. In a code language TIN is written as 456 FIN is written as 542 and NO is written as 74
then how to write FONT is the same language ?

(1) 4526 (2) 6245
(3) 2657 (4) 2746
(Note - Letters and numbers are not necessarily in order)

Q72 and Q73 Direction: Observe the table of letters and symbols and answer the question
given below:

RR| S | T [E M| A |0O]Y
¥ || ® [ X | A | ® |=]

72. Which symbol will be used to write the word '"MAYOR' ?
HAR| =3 O XA Q =]
3 46 @ = 41| | @ QX =4
73.  Which word will be formed by using the symbols :] 0 x X A X 3$'?

(1) STEEMER (2) STEEMAR
(3) STEAMER (4) STAEMER
74. What will you do if your teacher appreciates the essay written by your friend ?
(1) will not talk to the teacher (2) will not talk to your friend
(3) will congratulate your friend (4) willtell everyone that only your essay is good.

75.  'Which activity you think is correct to prevent the water reservoir from getting polluted ?

(1) To bathe in the reservoir (2) Notto wash clothes
(3) Sit near the reservoir for toilet (4) To bathe the animals
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